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Descriptive Statistics
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Descriptive Statistics

| N Skewness Kurtosis
Statistic Statistic Std. Errar Statistic Std. Error
IR 76 -.085 276 ~1.487 .545
PN 76 434 276 -.802 545
Valid N (listwise) 76
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NATIONAL SUN YAT-SEN UNIVERSITY

MA Entrance Examination
Subject: English
Human Resource Management Department
March 30, 2008

This exam consists of a Grammar and Vocabulary part, and a Reading Comprehension part. The total number of

questions is 50 (2 points per correct answer). You have 100 minutes for this exam.

e For the Grammar and Vocabulary part, choose the word or phrase that first best in the blank of the given
sentence.

* For the reading Comprehension part, choose the answer that comes closest to the meaning of the text.

Grammar and Vocabulary

1. Jealousy is his attractive characteristic.
a) less b) least c) last d) lesser

2. Please turn down the TV: the noise is so !

a) strong b) heavy c) infrusive d) conclusive
3. I once knew a philosopher who had never read by Plato.
a) anything b) something c) once d) all

4. -What time did you come home last night?
-I don’t know. It wasn’t light .

a) already b) almost c) yet d) approximately
5. The Swiss police succeeded in ____ two of the stolen paintings.
a) redirecting b) relocating C) recurring d) retrieving

6. ~-What sort of job does he have?

-Something in fashion, I think.
a) male’s b) man’s c) mens d) men’s
7. from behind, he looked much older.
a) Walking up b) Seen ¢) Fair d) Far
8. His computer crashed so ofien that he was to throw it through the window.
a) forced b) seduced c) angered d) tempted
9. -Have you eaten yet?
-Yes, . And you?
a) thanks b) very much c) let’s go d) wonderful
10. Carlos is a paramedic, to be a doctor.
a) studying b) studying how c) study for d) studying about
11. The balance of power in the world 1s from the West to the East.

a) changing b) going ¢) sliding d) shifting
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12. The politician’s adulterous affair not only his name, but also his marriage.
a) counteracted b) contravened ¢} jeopardized d) corroborated

13. Why did the govenor’s wife stand by her man after the scandal was ?

a) diverted b) digressed c) divulged d) divorced

14. Some spiders weave the most webs.

a) intricate b) mtrepid ¢) integral d) intravenous
15. Carlo demanded that Isadora stalking him.

a) stopped b} stops " ¢) stop d) stopping

16. By the time she was 13, she an eventful life.

a) has been leading b} leads c) already had had  d) has been having
17. Tears were in Jacob’s eyes when Rachel broke up with him.

a) streaming b) streaking c) crying d) stinging

18. copyrights are getting to be better protected.

a) Authors’ b) Author’s ¢) Authorized d) An authors’

19. -l am so fed up! Iam going to quit my job.
-Think again, and consider all that that !

a) entrails b) entails c) ensues d) encapsulates

20. Americans usually shower in the morning, Taiwanese do so in the evening.

a) whereas b) on the other hand c¢) when d) on the contrary

21. As long as we are on foreign oil, our economy will be vulnerable.

a) in dependence b) depended c) depend d) dependent

22. At Ikea, the entire range of furniture, bedding, lighting fixtures, and cutlery on sale tomorrow!
a) go b) goes c} are going d) has gone

23. In just minutes a thick smoke the burning building.

a) enacted b) insulated c) enveloped d) embedded

24. -1 never want to see you again, Eugene!
-What did I do? You really unreasonable now, Yvonne!
a) are being b) quite ¢) have been d) too

25. After his fatal accident, the young father was by his wife and three children.

a) revived b) surveyed ¢) survived d) revitalized
26. Carrefour’s vegetables are Iess fresh than those at the traditional market.
a) remarkably b) markedly ¢) marked d) marketed

27. Do animals have an____ of the future, you think?
a) aspiration b) knowledge ¢) afterthought d) awareness
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28. Thoroughly dried, .
a) she neatly folded the laundry.
b) laundry often crackles with static electricity.
¢) it is hard to fold cotton fabrics.
d) you should remove lint from the dryer’s air filter.
29. a child, grown-ups are big and strong and incomprehensible.
a) For b) When c¢) Against d) To
30. I did not have the slightest ___ of his decision to emigrate.
a) worry b) inkling C) premonition d) warning
31. -Is he American or English?

-American, definitely. That British accent of his is just a silly .
a) affectation b) effrontery c) effusiveness d) effulgence
32. Carl uses the word “fluid” as if it were with “fluent.”
a) intangible b) integral ¢) interconnected d) interchangeable
33. Why don’t we try to resolve our disagreements by calmly them?
a) discussing b) discussing about  c) arbitrating d) arbitrating between
34. I cannot quite trust the president: he deals with too many issues .
a) concurrently b) diligently ¢) judiciously d) surreptitiously
35. Forget about cooking dinner order a pizza.
a) ; just b) call to c) let’s dyri
36. I could never the first time I saw snow.
a) forget b) forgot c) to forget d) have been forgetting
37. After a spell in a drug rehabilitation center, Britney quickly into her old lifestyle again.
a) revolted b) relapsed ¢) recurred d) returned
38. Once the children together for a while, their earlier squabbles were forgotten.
a) played b) play ¢) playing d) had been playing
39. Our library has books than TaiDa’s, but you can still find most of what you would need.
a) fewer b) less c) lesser d) more

40. Many professors are very unexciting in their sense of
a) dressing b) wearing c) style d) clothing

Reading Comprehension
In Britain, the long march to maturity is being pushed back. In October 2007 cigarettes were plucked

from the hands of 16-year-olds, who must now wait another two years for their first legal puff. The
following month ministers unveiled plans to keep teenagers in school or part-time training until they
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are 18. And on March 4™ 2008, as part of a package of curbs on binge-drinking, the government
launched a crusade against under-age drunkenness. Shops and bars caught serving under-18-year-olds
will get one warning before losing their license, rather than two, and minors caught furtively boozing
will be sent with their parents to meet a social worker. Some suspect that next week’s budget will ramp
up tax on child-friendly tipples such as cider.

{adapted from The Economist, March 8-14, 2008)

41. “In Britain, the long march to maturity is being pushed back.” In other words
a) it is taking longer for young British people to be considered adults
b) it is taking longer for young British people to reach adulthood
c) young British people grow up faster than before
- d) attempts are being made to make growing up fast easier for British teenagers

42. The need for a package of curbs on binge-drinking suggests that

a} British teenagers like child-friendly tipples such as cider

b) British teenagers are in the habit of falling into heavy bouts of drinking alcohol
c) furtively boozing minors failed to meet with their social workers

d) shops and bars needed a stronger impetus not to serve minors alcohol

43. The government has started to give shops and bars who serve minors only one warning because
a) giving them two warnings would be too harsh a penalty

b) then it is possible to take away licenses quicker from offending shops and bars

¢) then minors will meet more quickly with their social worker

d) it is better that minors stop boozing after one warning rather than two

India has more fake than genuine doctors, according to K.K. Kohli, who chairs the anti-quackery
committee of the Delhi Medical Council. In Delhi alone there are around 40,000, In the teeming slums
where up to a third of the capital’s population of 14 million live, requests for directions to a doctor will
lead to one of many dingy clinic-shacks, where a man who looks more prosperous than his neighbors
plies his trade with a stethoscope, a thermometer and a big pile of pills.

“They take acute patients and make them chronic,” says Dr Kohli, citing quacks who misdiagnose,
prescribe steroids as pick-me-ups, mix their own remedies and buy cheap, out-of-date antibiotics. Their
most common error is prescribing and selling antibiotics unnecessarily. Sandeep Guleria, a professor at
the All India Institute of Medical Sciences (AIIMS) in Delhi, says quacks have helped cause the high

levels of drug resistance in India.
(adapted from The Economist, February 23-29, 2008)

44. Quacks are

a) unqualified pretenders to medica] skills

b) doctors who do not prescribe real drugs

¢) doctors who mix their own medicines, buy out-of-date antibiotics, and prescribe these unnecessarily
d) Indian doctors who have increased drug resistance in India

45. In Delhi’s slums

a) some 14 million people live

b) some 4 to 5 million people live

¢) some 40,000 quacks are teeming

d) quacks cause high levels of drug addiction
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46. “They take acute patients and make them chronic.” In other words

a) quacks misdiagnose illnesses and prescribe steroids as pick-me-ups

b) quacks force patients to buy unnecessary medicines and cause their chronic poverty
¢) quacks force patients to become their assistants

d) quacks turn incidental illnesses into permanent ones

The key to the potato’s value lies in its high yield and its almost perfect balance of nutrients. It is
possible (though tedious) to subsist on a diet of potatoes and very little else.

First domesticated in the Andes, the potato was carried to Europe in the 16th century. At first
Europeans were suspicious: the potato was variously thought to be an aphrodisiac, to cause leprosy or
to be poisonous. But it slowly caught on as its merits in times of famine and war became apparent (it is
more reliable than grain and remains hidden underground until harvested). By the late 18th century it
was being hailed as a wonder-food—for the poor, at least.

People then started to worry that the potato was too popular, and that its abundance was causing
an unsustainable increase in population. Exhibit A was Ireland, where the boomin g population
subsisted almost entirely on potatoes. The danger of such dependency was starkly revealed by the Trish

potato famine of 1845: at least a million people died, and another million emigrated.
{(adapted from The Economist, March 1-7, 2008)

47. According to this article

a) it is possible to survive on a diet of potatoes because of that crop’s high yield

b) it is possible to live on a dict of almost nothing but potatoes, but this would not be enjoyable
¢} it is possible, but dangerous, to subsist on a diet of potatoes and very little else

d) it is possible, but unhealthy, to subsist on a diet of potatoes and very little else

48. When the potato first came to Europe, Europeans

a) initially thought that it was an aphrodisiac, then a cause of leprosy, and then poisonous.
b) initially were suspicious, then thought it a wonder-food, then that it was too popular

¢) thought that it was either an aphrodisiac, or a cause or leprosy, or poisonous.

d) nitially were suspicious because it was first domesticated in the Andes

49. The potato proved its value in times of war because

a) it was more reliable than grain, and can be grown under adverse conditions

b) it provided food during famines, a common phenomenon of war

c} it could be harvested underground, uninterrupted by marauding enemies

d} it grows hidden away underground, invisible to enemies bent on crop destruction

50. The Irish potato famine of 1845 revealed

a) that it isn’t possible to subsist almost entirely on potatoes after all

b) that it is dangerous to rely exclusively on one single food crop

¢) that potatoes can indeed be poisonous, as the Europeans initially suspected

d) that the increase in population caused by dependency on the potato was unsustainable

End of the Entrance Exam English Test
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